Module - 1

SUBHASHITAS ETC.

PUZZ1LES AND PROBLEM VERSES Note

Dear learner, you are reading Prahelika and Problem Shloka in this lesson. Sixty-four
arts are famous in our tradition. They contain problem solving and puzzles. The
meaningless, meaningless or impossible sentence verse often has a pada form. Its
called problem. The avoidance or virtuousness of that problem is done by the poet
with his talent power. By taking the problematic one Pada, the remaining three Pada
are shown to avoid the problem. This is a humorous form of ancient poetry. It is close
to the imagination of the poet. The question-form word with clear and strange meaning
is often a riddle. His answer does not reside in the verse. It should be told by the
person reciting the shloka himself. Here some verses compiled from the texts of
Subhashiratna Kosha and Bhojprabandha etc. are being explained.

After studying this lesson, you will be able to:

e  know the knowledge of the type of poetry in the form of problem;
e  know the solution of that type of problems;
° know the introduction of Prahelikas in Sanskrit literature and;

e  composing new Prahelika Roop Shlokas

3.1 PROBLEM VERSES

3.1.1 UHET-33U33U3 333U33U3: |

No one knows the meaning of this problem phrase. Because the words used here
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PUZZLES AND PROBLEM VERSES

SUBHASHITAS ETC.|| have no meaning in scripture or in practice. Nevertheless, here the coordination of

Note

redundant post community in some proper sense is being proved by the poet. A poet
solved the problem as-

During the king's bath, the golden urn fell from the hands of Kampidita Taruni. Due to
which, having attained the stairway route, golden urn is producing the sound of
stuttering,

TS WEfoeaam™n: g&resddl sugel Jaem:|
HUFATETE Hfd 9168 3SUSSUS 333USSUS: 1| ( WITvaler:-317 )
ST -SSR =T T FRfoeaelal:=hdiedd:, Jadl:= qeua:,

THA=h, : = T, THIS:=HAUIhasI:, A =S ShIHh AR =
W, WRA=4A, HUfd=Sa(q¢ 33338 I33333: Il

Meaning- A girl is giving a bath to a king. Seeing the physical beauty ofthe king, she
became worried and worried. Due to the excitement, the golden urn, useful for bathing,
fell from her hand. Then the fallen golden urn went down on the stairway located next
to it, rolling down there. At that time, when golden urn is falling from the stairway, then
it makes a sound like this. In this way, by imagining a delightful incident, the poet
displayed a graceful avoidance of the problem. Here is the sound ofthe golden urn
falling from the path of the padasamudaya step, that is the meaning of the poet. The
poet shows a miraculous avoidance of the problem by imagining that the verse community
is the imitation sound of Kalashdwani. The word imitation form has no specific meaning.

2Icau CHL

T - U: SAfWoeh: TSeueh: - el acqey HHY:| i Tsiss
TRfoeaean: - oA foeaen #eforaen, T6: ARforaaa:-qdra acqey guE: |
BEC-TH: WS - THES: Wl dcqey 9HE:|

- WEG- T I q:, ST TR TSI eI T |
3.1.2 Problem “ITderg A% |

Meaning of the Problem. The sky is full moon. We see that only one moon is
adorned in the sky. The centenary sky is never visible. That's why the word that there
is a centenary sky is completely opposite to reality, so this difficulty is the problem.
Nevertheless, a poet of excellence has displayed exemplary avoidance with the power
oftalent. as-

TSR e el
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T IURAEH Jaeg A9IgeHI (gaT- T-H-9HeEr 10)
The centenary sky was seen by a malla named Chanur, who was frightened by the
hand strike of Shri Krishna.

T - IR aeacighadad| Those with a frightened mind by the blow

of Shri Krishna, =WRHee = From a mall named Chanur, 31@=% = Containing 100
moons, T :FIAH = At the sky, T = saw.

Meaning: There was a demon named Chanur in Dvapara Yuga. It is heard in mythology
that Shri Krishna killed him with a fist blow. Based on that story, the poet has
demonstrated the avoidance of this problem.

Shri Krishna struck Chanur, due to which the fallen Chanur was trembling with fear.
From his vibrations, a moon-filled sky began to look like many moons. The avoidance
of Chanur's problem trembling with fear is beautifully displayed.

RO Ta9I - ST H: - IHHRL: - TS qeqey HHM: | SHIREh T
STTET: JTHGIRTE - TET qeges FHH:, JMEhE faedeiad =d: I 9:
TR ETAIaeaeipaaddl ~ qgaieadd: |

TUREeA: ~ WIS 3Tl Hool: - WVREeA: - HUURT: THG|
TATSH - I TR AR O S - a8 e aHE:|

IHFAA] - THY: TU@ AVIAAH - TR qYEY HHM: FUE AH T TS
I TIAY - HHURA: T

3.1.3 Problem- TH Y&

Meaning: Here it means that the sky is illusory. We see that the sky in infinite, the
magnitude of which no one can overcome. The infinite worlds are contained in the sky.
In the same way, the great sky is equal to the illusion, this is the big problem. Where is
the magnitutde of'the sky, travel

Where is the quantity? This is the problem due to being thus extremely hostile. Which
poet has miraculously avoided this?

Wi giEeaE SR 9

FEITYUSERI: TH JEEd N (AT JLEEE17 )

May all be auspicious for the Kshatriya Shrestha, Jagdaradhya, Bhoomipalak king,
whose fame in the lotus, sky behaves in an illusionary manner.

g - §FRa™ = for Kshatriya superior , SFEamd - Lord of the world ,

Module - 1

SUBHASHITAS ETC.

Note
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SUBHASHITAS ETC. || 9 = for the king , &1 = good luck, ISEe:guedietd = Whose fame in the

Note

PUZZLES AND PROBLEM VERSES

lotus, ™ = Sky, HU = is confused ?

Meaning- Kshatriya Shrestha was a king. He became Jagaddev with his best
character. Which the subjects considered their adoration. He became famous in all the
worlds due to the king's Prajapalnadikartas. His fame had spread in all the worlds.
Describing his fame, the poet said that in the lotus form of fame of that king, the sky is
also inherent in illusion.

Here to make the sky illusionary, the poet has imagined the king's fame as a lotus
justified and beautiful. The illusionary sky is contained in the lotus, it is proved.

T fa9w - TR YU -T2 I -~ T~ TS IacgeTEH:, T
T QUe{ieh — FENYUS{ehH — HHUNIHAN:, Fe YIS e 3T FeYUs{ichi<:-
TEAcqey g |

3.1.4 Problem - T7q fde: uard |

The meaning of the problem is the deer, because of the deer, the lion is famous as
Mrigraj. His bravery and bravery are very famous. The deer run away even in fear of
his dream. The lion sleeps happily after eating the deer. The one who killed the Goat is
also brave. He flees from the deer, it is quite the opposite.

So this problem is certainly complex. The poet has displayed a beautiful avoidance of
this problem with the power of his talent.

FgaRadd oge Hgamfy |
gfa wen fgugdt g feg: wemam (gaLTn weer-4)

Inferiority i.e. killing the inferior or weaker than oneself only produces the smallness of
the superior beings, thinking of this, Gajshatru flees from the deer.

sl gecn = To kill the inferior or the weak with the expectation of strength,
TEamid = Even the best of beings, @&e® = Sense of insignificance , U =
Certainly produces 3fd #e@T = Thinking that, f§95% = The enemy of the yard , f&g
= Lion, T = From deer , 9 = Flees ?

Meaning- Here the meaning ofthe poet is such that there is no deer as strong as me.
Therefore, the action of war and adventure should be done between two equal men, it
is sucha rule. War between unequals is illogical. The strong do not fight with the weak.
Therefore the lion walks away from the deer for fear of losing his reputation after
getting the deer, is the intention ofthe poet. Thus the prestige in the migration of the lion
from the deer. The poet has displayed proper avoidance of the problem by presenting
the representational cause.
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=T favie - Eee- N9 - T - Eecl- Wl acges e
TG + T - IUT - F0 94|

3.1.5 Problem - The ant kisses the moon

The ant kisses the moon, that is the meaning of the problem. The secret of this problem
is that the ant on the ground kisses the moon located in space. This word has increased
the difficulty of the problem. This impossible statement is certainly a big problem.
Some poet presents its avoidance. as-

Fefaaim fauuoreaa: g yaa e
Rree wretehRferd gamrn fudifeer =rafa srgHugem
Due to the separation of Goddess Sati, while sleeping in a mountain named Himalaya,

the ant kisses the Chandrabimba with the desire of nectar, located in the chuda of
Shankara, the lord of the miserable world.

ataard- gdifaan= = With the separation of Satidevi, fadtferent = ant, fomoor=ag:
= of the downtrodden, fe"e@ = called the Himalayas, fill = on the mountain ,
IS = of sleeping, 9¥1: = of Jagatswami , a1 = of lord Shiva , FETRfcaH =
located on the hook/mastak , THIEH = to the moon, YHRMT = by the desire of

nectar , Jralfd = kisses.
Meaning-

Sati, the daughter of Dakshaprajapati, was the first wife of Shiva. He gave up his body
in the Yagyakund, such a legend is heard. Then Shiva became sad due to the separation
ofhis wife. Being sad, he was sleeping in the Himalaya Mountains. Then the moonlight
on his head touched the ground. Amrit is secreted from the moon, such is the fame.
Pipilika kisses Chandrabimb in order to drink the nectar out of euphoria. In this way,
the poet here proves the avoidance of the problem in a very delightful way by taking
shelter of the mythological story.

aeRTuT fage - ge: fagi: wdfaam: - o=t aogey gurE:) favvoedE:-
fauoel =@: I= q: fouvued: o= fauoeny: -agalfeame: | gueE-, ga
;ST G T Geer - Ul dcqey HHE:|

3.1.6 Problem. This sati embraces father-in-law in front of her husband with

passion.
Meaning of the problem.

This sadhvi embraces father-in-law in front ofher husband, this is the meaning ofthe
problem.

Module - 1

SUBHASHITAS ETC.

Note
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PUZZLES AND PROBLEM VERSES

SUBHASHITAS ETC.|| The nature ofthe problem is that a sati woman, considering her husband as a deity,

Note

does not see a man even in dreams, but such a thing is done in this world. But this
Sadhvi does not embrace her husband with passion in front of her husband, but
embraces her father-in-law. This could be the behavior of a Ganika. But such is the
behavior ofthe Sadhvi. How is this the sclerosis ofthe problem? Yet the genius of a
poet avoids the problem here. as-

wETraTSETel fafuagfa  «fimT S

FINfET gt eruttag Teiefa wifeam

7. vieesE wefaef W Wi

UT: U hIATq JAIRHIATICTSIT Hatll (oY, 9. 99er-35 )

g - Haad = some day, fafmgfa = in forest , FIMEHT = hey tanwangi,
gY: = Often , ATH = are you tired, 38 = Here, &0 = for a moment , Feig =
have a sit, $fd = Thus , 599 = by Bhimsen Vrikodar, Tf<al = already told , 399 =
this one , ®al = Sadhvi, Wrserelt = Dropadi, ¥1: = slow down , ¥id=sm™@ = cool
shade, defaefi™ = tree nearby , W™ = passing by , gf<dl = satisfied , 9: =
Bhima's, gX: = Front, THIq_= with a sense of humor , ¥a{[XH_=To Father in low
(Vayu), SAferedmid = hugs

Meaning:

In the Mahabharata, there is an account of the exile of the Pandavas. Taking his shelter,
the poet avoids this problem. Summer came in the context ofthe exile ofthe Pandavas.
One day, seeing Draupadi tired from the heat, Bhima said that you are tired, Draupadi.
Sit here for some time. Then listening to Bhima's love words, she went and sat there
near the cool shade tree. He got great pleasure from it. There the wind was blowing
well too. Draupadi then consumes air to overcome the fatigue caused by the heat.
Vayu is the father of Bhima. That is why he also becomes Draupadi's father-in-law. It
is proved that Sati embraces father-in-law in front of her husband. Thus the avoidance
of the problem is demonstrated.

wreRtor faow - fafmygfe- fafre g fofmy: - o= qogew s, q@n
faferagfar

qefaeftaq - dew faedt defaedt d defaefimm - Wt acqes o

. INTEXT QUESTION- 3.1

1. Fromwhose hand did the golden urn fall?

2. From where did the golden urn fell from the hand.
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3. Who is Chanur? SUBHASHITAS ETC.

4. Where is the sky confused?

5. Jagaddev: What s its Vigrah?

6.  Who is dipdveshi?

7. Whose imitation of word-Thathathantha =
Note

8. Whose son is Bhima?

9.  What has been conceived in a Pundarik form.

10.  'Who commits Hinahatya?

3.2 Prahelika

FomE 7w fgfveer 7 = wffoit
Y@t A USETelt A WA 6 ufusd: ) (gHTY 9w fesRT-25 )

e - FOMET = Black color face, 7 WISl = Bidali is not , f5fSigT = Has two
tongues , T d Aot = s not a snake, =95 = With five husbands, 7 r==Tell =
Draupadi is not, ¥: STHIfd = Who knows, § = He , 9ftsd: = Schoolar ?

Meaning-
Somebody is black-faced. But she is not a marzari. Even though she has two tongues

She is not a snake. Same is the case with five husbands, But she is not Draupadi only
genins can answer.

Dear students, in the same way by thinking for yourself, know and become a Scholar.
Grammar

FOEE - FO GG T FOHE! T qu:)

fgfomr - ¢ foma =@ @ fgfeen - wediife wmm:

TSEA-ToE HAR: FTE: W G -agals IHE:|

T ST 9 @wer an fassfa e

quIEt q g Aver A WA | ufvga: | (g TETuRfae 2)

st~ | = She, @4 = In forest , ST = Occurred, a4 = In water , e =
Abandoned, @RI = Always , faftsfd = lives , 9081 = Woman of money, 7 g
3941 = Sheisnotabad character women, 3: = The person who, STHIfd = Knows,
29 ufted: = He is a wise man
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PUZZLES AND PROBLEM VERSES

SUBHASHITAS ETC.| Meaning-

Note

She was born in a forest. It is discarded in the water itself. She lives in water only.
Similarly, she can be bought with money and used, but she is not a bad character
women. One who can know such a genius by thinking is a skilled scholar.

Only wise person can answer.

Grammar

YUIGET:-UUaT o 3T T UUTE- hH R aEHTE:
g 3fa ug aruand gem add qer wemedsfy add

aMu: SR i |feiel A sier)
Uq: HIATeyd Siad e eIl (S )

FETE T ¥ ufeR: Brmer@ 7 = grerntor:|
a7 o fagant wet o faud T ger T A (g L Rfas-41)

argared- gamErE = Lives on tree, T & Tf&RTSI: = Not superior among birds,
U = Who has three eyes, 1 ™ QENTFUT: = He isnnot Shiva , @aEALR =
Wears bark clothes, 7 & fagarft = He is not a yogi man, Sic = Water , fayq =
Wearing, ¥ 12: = Npot a picture , ¥ #5: = Not a cloud?

Meaning-

There is such a special substance that stays on the tree. But not a the best in birds.
Has three eyes, But not hard Shiva. He wears clothes in the form of a Tattva Yogi, but
he is not a Yogi Purush who wears clothes made from the bark of a tree. He also holds

water, But it is not a pitcher, nor is it a cloud.

In this way, what should be a very strange substance, such a poet is asking.
Grammar

TefIST:— Afeqon TS - qiERTST: |, Wl acgeue |

frmeT- Sffor = wRPrg Yo s et

[ERECIIEIEERC LIt

NG ERIGE o T G: [Tl —Sgeiits HHE:|

A —, T 9% ool - HHURIGA:, oo

T Yie ST e - SUUREA |

foagant-fages o@ arft fagant-FHurae|
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. INTEXT QUESTION : 3.1 SUBHASHITAS ETC.

1. Whoissaid to be like a panyastri?

2. Who are the five husbands of the pen?

3. Who is Dwijihwa?

4.  How are the clothes ofthe coconut and the Yogi? Note
5. How s the splendor of the pen proved?

6.  What is the Vigrah of word Pakshiraj.

AN o Tl g€ HeAd g TS I
STFNEHRRTA o IAMG | gfuga:il

- FAW ol RH, HAW J&: T 9| HAHNE FRN<H

I: A | gived: (&) |

3ol - FEW=TRY & SN H, T TH=81 T, FaAW=hd & AN ¥,
&= URY B, SHNIE THRH=3TRT ¥ STHRIARTE, < ThRfafired 9 I:
A=< €, "=a8, ufveq: = fagr 21

Meaning-

There is a question in this puzzle. In order to get its answer, many information is being
given in this verse. That question is, what is the fruit that appears in the front part ofthe
tree. Does the next part of that fruit have leaves like a tree. And the first letter of his
name is Akar and the last letter is Sakar. thus here Fourth information has been given.
After this the person who is able to answer, is a great scholar.

The answer is pineapple fruit. Pineapple fruit is found in the front part of the tree. The
next part of the pineapple fruit has leaves like a tree. The first letter of pineapple is
Akar and the last letter is Skar. Thus the answer to this puzzle is pineapple fruit.

Grammar
o IUN TINH 3MU: F&WI: (A T ACETTHN:, ARHT &
o TWH @ I G W@l HYSI T=H 3w |

o  THNRURRE SHR: MMG: TW qq FFN 34 wgdife gaE: |
ThN: < I T4 FHRN<H Afd dgeiis HM:| ST 9 dq
ThN<H ~ STRRCHBRTH_ 30 HHIRIA: |
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Note

PUZZLES AND PROBLEM VERSES

o TH WA - Ful: + T

e T TMIfd = I+ TG

fred 19w wesTih, Stvem: W d @Rl

st T A ARt e

SToa-TTed YA eI, ofven: § ¢ Fefwl "ue At T 7 o1, et st
fem=R: A

araaned - 1 = TER WA X ¥ TSIH=S §, vl = *ig, =W W =
W HI el = 9o wW ¥, WU = Te, M = €, R: - A=, | i -

&
’

Tl §, X WURES: = TR, e = ¥, femeR: = ge)

Meaning-

There is a question in this puzzle. In order to get his answer, many information is being
given in this verse. That question is, who is he, who moves like a king in a chariot.
Horses carry that chariot. He is the emperor i.e. rightly adorned, but himselfis not a
human being. He himself gives life for all, but is not nocturnal. The answer to this
question is the Sun. Because the sun moves in the ethereal sky in a chariot driven by
the charioteer Arun. Seven horses pull the chariot ofthe sun. The Sun is highly illuminated
in the sky. That's why he is the emperor. But the sun is not a human being. We all know
that it gives life. He is the creator of the world, therefore he is an asura but he is a
nocturnal i.e. he does not walk in the night. Runs during the day.

Grammar

o TR - HEE TS 3 WA

o frmeR: = froma =”fa sfa frem=r: & vam: e
wf-eremrET -

o WA Bfd = oAl + &l

o THIEfH- U + e

o USTH = T + P +
INFGRT o HE A

TR o WEWTEA O ST @ ufvsa:

T - 3 YRR ard Fwrad HiUEld dRR0M o 93 AR F: G 9
qfued:|
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MY - KA = 3® g o0 ¥ fafire, amf = s, asrfc | SUBHASHITAS ETC.
o1, ki = =L, HehN, RUERd = R 959 faftre, =fwon = foaw) gr
Tl g =, G = A, A = GF, F: TEING = S A @, § ufved: = a8

fagr 2

Meaning-

This riddle is confusing. The one who reads this riddle for the first time, funderstands Note —
that there is such an instrument that is distinguished by many beautiful heads like the
distinguished beautiful sages, and is always worshiped by Vishnu. Thus the reader may
never be able to decide the answer to interpret Prahelika. This meaning is illusory. Not
worth considering here. Here the nature of the question is that there is such a thing
which has many heads. Whose initial letter is Waqar and the last letter is Kakar, but
whose name is similar to the name of a sage. And that thing is always desired by

snakes. The one who is able to answer this question, the great Scholars should.

That answer is Valmika i.e. the abode of snakes. There are many holes in Valmik and
the beginning letter of Valmik is Vakar and the last letter is Kakar. Its name is similar to
the name of sage Valmiki. And that thing is very dear to them as it is the abode of
snakes. Thus the answer to this puzzle is Valmika.

Grammar

1. eeRgRme - v Rofe giwfa sfa afaesm:)
SR GRIWRT T8 aq STy 3 agsifeam:|

2. OTIRgE ITE U qq S sfd agelifedHe:

3. P - AN I8 qq hIaH S ageliecHH: |

wfvereprden, -

1.  HUEHH - 49 + AN

2. 9 9fved: = 9: + qivead:l

T aEnfed aErar uel wae fasfal

qaEfE qATERa afe a9 920

T - 7 TS (), 7 79 o (3fR), 7= vy ¥ fassfq) @a fu
e, 79 A e, 4fg e a5 &g

TaATd- 7 = THR, THIME: = ITHT M _R, 9 = THR, & 3T: =
AfIeR, T HEd = 3@ TN U, 7: = IR, Tawsfd - war €, 99 - gRn,
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Note

Ay aifed = @, 79 = 90 aft e ], afg SIf| = <0 @, 9 9% = el

Meaning-

This riddle is also misleading. One who reads this verse for the first time, understands
that there is such a thing which has nakar in its beginning and which will end with nakar.
That is, that thing is eternal and infinite. But he is with everyone. For this meaning of
Prahelika, the reader is never able to determine its answer. This meaning is just illusory.
Therefore, this meaning is not discussed here. The question here is whether there is
such a thing which is Nakar in the beginning and Nakar at the end but its middle letter
is Yakav and it is with everyone.

That answer is nayan i.e. eye. The first letter of Nayan is Nakar and the last syllable is
also Nakar. And there is yakar in the middle. And ite is the eyes of all beings. In this
way the answer to this puzzle is determined.

|fer -

1. TR = a9+ emfa+ Al

2. THEM: = T+ T

3. IW™ = A+ qE=|

@ Tgd O, HAYT e Wl

wfaeret ae=iter, wromver fafseran: w=m

IET - U U T U, AU SNTEhT, YA aaf< a0, (TEM:) WO: F&
fafegsrr:|

e - W Q- g W, g%gd - < O oM = eRfd, gden = g SR
= ST areft, gfasl = g% 994, 98 = ®adl - o, (T&0:) JOm: = Wol, §6&
= o1, fafsemr: = s gem

Meaning - There is a question in this puzzle. To get his answer, many information is
being given in this verse.

That question is - who is such a person, who holds two hands in mouth, that is, he has
two hands in his mouth. But he never sleeps and always stays awake. And he gives
knowledge of every moment for all human beings. But his life is tied, that is, he is not
free. In this way, four informations have been given to solve this question.

The answer to this question is Ghatika i.e. clock. In the face of the Ghatika, that is, in
the front part, there are two big sticks (needles) for determining the time. One of them
is called the minute hand and the other is called the hour hand. And both of them are
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PUZZLES AND PROBLEM VERSES Module - 1

the hand forms of the Ghatika. And Ghatika is always awake. In the night when | SUBHASHITAS ETC.
everyone is sleeping, even then she is engaged in the work of her time perception.

never sleeps, In this way she makes knowledge of every moment for all human beings.

It is only through the Ghatika that the work ofthe people goes on properly. Without

the knowledge of time, no one can complete the work properly. Therefore, through

the memorandum oftime, she does everyone a great favor. But he is not independent.

His life is tied. Ifthe electrolytic cell ends, it closes, when a new cell is received, it Note
starts running (alive) again. Thus the answer to this puzzle is Ghatika.

Grammar
1. ®d- o1 U STHUS TR YoH oy |
afverepre -

1. oE<d

asfd + 39l

2. HOMEE = WOW: + =
waTRagaty =1 S
frarrTe fadatem)
JrRaTfe=ata et

W AW T EaEET

g- GEiweA aify aftgwer 9, Faraweiy fer foar wal aeikente ety
A 9 WAl H AW H s oAy feRal

HaqY - TR = Fogl S % e H feed, Hey RN 3w stewara,
Ay g = wHEw, 7, FarRw = o< aa 89 R o, fed = e,
fal W = vaqE, FelhafeA! = weTfe, Sy gt 7 wE, w1 AW w S
= 3 H weRadt a1 3fA Sy = vw, Feka = wae

Meaning- This riddle is going to create confusion. One who reads this Prahelika for
the first time understands that there is such a woman who always lives in the midst of
enemies, but herself has no relation with her enemies. There is a lot of passion in the
subjects. But she is as pure as Sita. She always speaks very clearly but she is not
anybody's messenger. On reading Prahelika completely, there seems to be a
contradiction everywhere. By interpreting Prahelika in this way, the reader may not be
able to determine its answer. This meaning is just illusory. Therefore this meaning
should not be considered here. Here the question is - who is the person whose name
is in the middle, even though she has a very red color, she has white color. Like a
messenger, she listens from the mouth of a human and later speaks the same way. Is
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she Sarika? The last letter of whose name is also Kakar. So the answer to this riddle
1s Sarika.

Grammar

1. oftgeet - aftfa: Ier OREgeeT s gt dcges el

2. Tadiate - fAdid w1 sfa fHaiacnn

3. W - I FEAT: | H S agele T

4, feEg@ - 7 Her oy um: e wdfe aemgesa fesm s
|

wf-eremrE -

1. WA = ¥ + ARme + 3

2. THarGeY = T + e

3. fada = faar + @

4. Trecam = fega + o)
MMET T oW T @ ugeng ferrerd)
Saar e am qarefa 7w =

e~ IS e o1 v, wve W foRreid| <aar e v, q9 wify sifa m
&g =

araad - ol = enfRwm #, A = TR, W1 = o1 ¥ SRR, W - gl
Il €, UYEI = YSHM W, W = W - 98 9Isg, ToRiStd = gunfad g €, e
- o 1, T - T, U9 - TN, 99 - U] Sy A - §, wH IAfu =
e

Meaning-

Some features of a place have been said in this puzzle. After reading the verse by the
reader, knowing those characteristics, it should be determined that what is the place
containing that characteristic. They are characteristic as- there is always bha at the
beginning of'that place, that is, the word of its name is bha, or there is always brilliance
(light) in that place, it can also be said. But after the name of that place Rat remains,
that is, the last word of that name is Rat. And that place is very dear to the deities. And
that place belongs to all of us.

That place is India. Bharat is the original word of this name, but great sages like Shri
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Ramchandra-Vyas-Valmiki-etc were born in this Bharatvarsh. Because of this, the
country of India always remains radiant due to his knowledge. And Bharat is the last
word of'this name. The country of India is very dear to all the deities. The deities want
to take birth again and again in India. This country of India is the dream country of all
our Sanskrit lovers. Thus the answer to this puzzle is Bharat

Grammar
1. T = fa SusigEs US-H1q AR GUHTES Tehore|
wi-erentd -

3. HHIG = #9 + M4l
ST EMH o WigW T 7 ufvsa:|
I TREATHT o A W @ ufvga: |l

I~ HUS: JUMHT, WER: (W) 7 ufved:, Fq@: THeaw =, A (W),
SHIfd | gived:|

sy -

U = WSEM, JOWH = WEEN, WE: = FaRgE (RY), T 9fved: -
fagM Tt ®, o/@: = Y@, THIAawh! = TIERh, q: = S S (TH) I =
Sl ®, 9 qfved: = e

Meaning

In this puzzle, some characteristics have been said against each other. After reading
the verse by the reader, knowing those characteristics, it should be determined that
what is the substance containing that characteristic. The readers are confused in deciding
the answer to this riddle, that the characteristics of matter which have been said here
are all opposite to each other, that is, all those characteristics cannot be together in the
same substance. Therefore the reader should read this verse with concentration. Those
are the characteristics of matter, as it does not have legs, but even though it is footless,
it can go far. He is full of letters, but he is not a scholar. He has not a mouth, but he
always speaks fearlessly and clearly. The one who knows the answer to this is a great
scholar.

That is the answer sheet. The letter has two Pada but it travels from one place to
another unintentionally, either in book form or otherwise. In this way, even if there is no
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foot, the letter reaches from one place to another. But when the book is made, then
many letters are printed in the letters of the books. Very informative sentences are in
letters. People acquire knowledge by reading them. But the letters themselves are
foolish even if they are special with abundant letters. He had no knowledge of himself.
The letter doesn't even have a face. But he always displays many of the wise sentences
written in his body to the readers in the same form. Thus the answer to this riddle is
Patra (letters.)

Grammar

1. oTUg: = SifoemM: 98 I9 § 31U8: i agalicqH:|
2. OMHN = g Tresfagfd O

3. oTE: - SAfoEE W A aq o i agsifer:
wf-eremrET -

. STRIGUTH = S9g: + JUIH

. INTEXT QUESTIONS-3.3

1. Infront of which fruit are leaves like a tree?

2. What isthe Vigrah ofthe word "Samart"

3. Anecksushiram What is its Vigrah and what is Samas?
4.  What is adored by snakes?

5. Who is always awake?

6.  Who is candid?

7.  What is the favorite place ofthe Gods?

Who is the faceless but outspoken person?

‘n SUMMARY

In this lesson, six problems and many puzzles have been studied. The solution of all
problems and puzzles is right here.

'33U33US 333U33U3:" The solution to this problem is the sound which, falling from
the hand, generates the sound of the Kalash from the step-way of the Kalash.
"Shatchandram Nabhasthalaam" is the solution to the problem that Chanur, trembling
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with Balarama's shock, saw the Shatchandra sky. "Gaganam Bhramrayate" is the
solution to the problem that even the sky remains illusory in the lotus form of fame of
the king. Mrigat Palayate is the solution to the problem that even after finding the deer,
the lion escapes from the deer because of the fear of his reputation. Pipilika Chumbathi
Chandramandalam is the solution to the problem that while sleeping in the Himalaya
Mountains, Pipilika kisses the nectar secreted from the moon present in the head of
Shiva. Purah Patyuh Kamat Svasuramiyamalingati Sati is the solution to the problem
that the tired Draupadi touches her father-in-law in the form of air in front of her
husband.

Pineapple fruit is in the front part of the tree, there are tree-like leaves in its foreground.
The sun constantly moves in a chariot, its chariot is pulled by horses, it is life-giving, it
is not nocturnal. Valmik has many pores and is very dear to snakes. The first letter of
Nayan is negation, and the last syllable is also negation. The watch always tells the
time to the awake people every moment. Sarika, despite having blood color, is also
white in color and speaks as she hears in a messenger. The initial letter of Bharatvarsha
is Bha. The last word is Rat, and that is the favorite place of the gods. The letter goes
a long way even when it is footless, speaks clearly even when it is faceless.

S.'T:'J TERMINAL EXERCISE

1. Describe the reason for this gnawing sound (33).

2. Fromthe point of view ofthe poet, who has been called the place of Shatchandra
Nabhasthd

3. How hasthe poet proved Gagan to be illusory?

4.  Sati's father-in-law - tell the virtue of'this problem verse.

5. Describe the merits against the letter (patra)

6.  Describe the coconut with the poet's description method.

7. Describe the pen according to the poet.

8. Prove the moon kiss done by Pipilika with the help of poetry.
9.  Givereasons for the migration oflion from deer.

10. Describe the boat according to the poet.

11. Sadarimadhyapina Vaiyukta... Discuss the answer to this riddle according to
the text.
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SUBHASHITAS ETC.|| 12. Aado Bha Shobhate Nityam ... Write the answer of this puzzle in brief.

EI ANSWER TO INTEXT QUESTION

3.1

1. Of the girl. 2. With passion.
Note 3. The demon was killed by Krishna.

4.  Inthe lotus form of fame.

5. Jagaddev, the god of the world - Shasthitat Purushasamas.

6. Lion 7. Of'the golden vase.

8. A 9. Ofking Yash.

10. Great also become small.

3.2
1. Boat. 2. Of'the finger.
3.  Pen 4. Valkal vastra

5. Reasons to make sense of the written subject.

6.  Pakshiraj, the king of birds.

1. Of pineapple fruit. 2. Beautify.

3. Shobhanani Shiransi Sushiransi Iti Gatisamasah. Anekani sushiransi yasya tat
aneksushiram iti bahuvrihisamasah.

4.  Valmik. 5. Ghatika.
6.  Sarika. 7. Bharat
8.  Letter (Patra)
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